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e  Please check that this question paper contains printed pages.
e  Please check that this question paper contains 14 questions.

e  DPlease write down the serial number of the question before attempting it.

15 minute time has been allotted to read this question paper. In this duration the
students will read the question paper only and will not write any answer on the answer

book during this period.



TERI-9-95 (2017-18) / SAMPLE QUESTION PAPER (2017-18)
TR, (THINUMTRAH) / COMMUNICATIVE SANSKRIT

F&: 20 / Class : X

AT @Tﬁ'ﬂ"[ glJﬁg;T - ¢o
feria @w g ; 3 9o SR i : <o
Time allowed : 3 Hours. Maximum Marks : 80
TUe: F: AT HTTT / SAF(S- AT . g0 IET:
Section A Unseen Reading Comprehension : 10 Marks
WS W CEAIHR-HE, / T DRy g
SectionB  Writing Skills : 15 Marks
Que: T: IITGTR-ATHLUI / TR TR D RY S
SectionC  Applied Grammar : 25 Marks
woe: o qiéd- e, / Giéd-aarae . 30 T
SectionD  Reading Comprehension : 30 Marks
feida: / Instructions :-
() AR T TAR: WOL: Fied |

T I § IR @ E |

The Question paper has four sections.
(i) S TUSH AT STV THRHA T HHUT ST |

Sfcdieh EUE % IR T &l STE T § fore € |

The answers to each section must be written at one place.
(i)  SITEEAT AT, TTTTH SEHHAT |

AT & STFHAR UA-HE STz fos@t &nt |

Write the question number according to the question paper.
(iv) TS ST ST Tk @ |

Y wl % IR Tk H faRa |

Answer all the questions in Sanskrit.

@Ue: F: (Section A)
ARSI /S-S (2o Shg:)
Unseen Reading Comprehension (10 Marks)
1 orifosRace Agese Tl Seeme S ST ;
frrRAfRad STgwsd ®l U 14U 34 U2 o STR T6hd | i ;



Read the following passage and answer the given question in Sanskrit :

IRd TN FH HdegH I I | AN S Haadioadd gl Iefavaid | FHideadiad
TR e | T T Eehdeaee=iu Fafed | §9: dd quid | a9 SEfal Tefd) @
ST IR | e GEwd g AT Fid T FHdedT FaiRar= @fed | Tgs3: a9 1o
NETIHT FaH| [T, SRE-FEUE, @R @R 9 89, G9NRE 99,
WYHENIET: T FHledTe died | q: AE: FASGRE: Wl T 09 THRE EF: AE0ha
Wl | o7d: G gSA: T Eehded I | Eahded o Haaaiy reaH |
S: o~
I TR IO 1x2=2

O Feg H I G :

Answer in one word :

(i) S FHORE?

(i) T weuey 9 Fsam?

I qUEeRH SO : 2x2=4
QUi H I ST ;
Answer in complete sentence :
(i) AN Siad wel SAf: Wald?
(i) % GHE W IAEHIGH Hald?

M e Ahed: IFaH I N foad: Vox=4
f2Q 79 kel | & IFd ST T fSRa :

Choose and write the appropriate answer from the given options :

()  “qufar g Fraree wEue fRe o
C)IRE @ T
@) A @
(i) SeigEwd®g_ o R e R
(@) S @  gEEE
@)  FGH (3 @
(iii) A e & T TR TR
(¥0)  FaaH, @  gEEE
(@ & @) A
(iv) '5:EHIH 3 &: [Jom: TRl 59wy ;
(@) gEEE (@ ST
(@)  FE @ &

(IV) T STqed Fid T AiTSeh S foed: |

T T4 % (BT ITGH AT9F Gl | foRan
Write the appropriate title for this passage in Sanskrit.




@oe: @: (Section B)

TIAICHH-HE / TIIHH-HH (24 )
Wrriting Skills (15 Marks)
2. w-fraeaE aimicad quEe: i o foRad o agea: Shade: et
I e & Afiicad F1 9ui4 Fd gQ it & iy o 710 o3 | Agw | I ug g gfd
F
Complete the following letters and address it to your friend describing your
school's annual day with the world given in the box. 15x10=5
Fr - e
(0
farre: (2)
fora i (3)
(4)
wad: W | O SRS (5)_ auEid| TEAEEEd (6) |
FATH: (7)_ T FAY Fn: A SUGHHERT: FEHREE 8)_ IEdl &
TrNea STcd TR | AR BEpa: 9 (9)_ orFwsd| g e |
Had: (10)
g |
ANl
TN, Ggia: , TR, BE: |, G5g , TR, GEmdi: | 21.04.2018 , Feeaed , amfvaicaaH |

3. 3T UG [ Tg1 HeouTl VeiRTeaHl Qe 9 Tl ek fSEd:
< fe v o =61 ot A | fo v ares) i Geraan @ ot depd g | St
Describe the following picture in five Sanskrit sentences with the help of the words

given in the box. 2x5=10

b\

STFT:, AT, G, TR0, SIGH, Wawhl:, Follel, T, SF= R, T2, |




A

SRET (Or)

AIET- TE3-egH TR (HalsRad [HeaH STl 99 Hehd aTay TR 3Tgwes, foad:
AN H (G0 710 2155] 1 FETdT | (Hafaiad [eg W 9 arl | T =g [oha ;
Write a paragraph in five Sanskrit sentences on the following topic with the help of

the words given the box. 2x5=10
- qa’[:

BT, ATATERITH, ST01-aT, (T, *1ay, fasfea, @, ®ot, 3[6H, Taa:, 9Tl 39

@ue: I: (Section C)

S-S / AT SAH (R4 gT:)
Applied Grammar (25 Marks)

STARAT- TR Ty T4 Hiet Ffeg=d a1 Fiea fosat:

ferrfosRera arerll | Y@fgd uai | |ied staan |fed-fa=sg w3 (R

Write the underlined words of the following sentences after joining of disjoining
sandhis: 1x4=4
() e Ai+3Ed T8 9 g |

(i)  TEH ITEE qF STy |

(i) T TEESEEE IR |

(iv) PO o il e

SN ~ N A . N N N o o
SYNANEI-ATRY WEIg, G HHIH T9HE 97 Hgd [dhed¥ : Ml [dEd: -

feretfosiiara amerll § T@fgd a1 1 T Srea foore fqe T fosredl § | e foRaa -

Choose and write the correct compounded or expounded form of the underlined

words in the following sentences :- 1x4=4
() Hie: ®9s: T 9: ey Faatd)

(@) AowueE: @  Aiewual @ AAewus:
(i) A O T |

()  he-GRdH. @) TR IAREH. (F)  ARRH R
(i) TH: = IMH: I TH T=d: |

() T @ THEEEE (@) W
(iv) G=E9EH SAEE |

() TEIENT EEER: (F) 9= @)  T=EH-9EE
SR -ATRIY TG AT Fhfcl- S Sy fonteg a1 I ST fahedna: e foad: «-

frrafsRaa aTerll | TETSd 9ei & Thid Tadl Hl SieH a1 GUE Flah Irad S [9hedl H ° Jadd

[AE -




Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots words. Selecting the correct answer from the option given

below :- 1x4=4
(i) O o R A F+dead |

(@)  F: @ @  FH
(i) <t ARl IS+ TSH AT

CIIEISIG @ e @) wredn-

(iii) ~ Shd: TIUNEC] HHRAT TR |

() O+ (F) 2 EUE+ds (F) EOiE+e
(iv) ikl Jeilel: F20: Tl |

(1) Sifdd+ed (F) SH+EM (@) SR+

IreNfsRad dare A <t Ue: areARade Feal Wik | = 4= fosea: - 1x3=3
TSR G 1 Heggdl H fow 710 2red] il Gede | ar=d-9Rad Fd g Hqul |ag ga: fosfan
Fill in the following dialogue by choosing the right words as per rules of voice.
e - & T el vt

B - ! | (1) oI |
e - foh Ta: o foswia?

JE: - ™! (i) o4 fEd |
;- I T (i)

1E T FaH |

foRad, Taum, Te:

IrfRaaferraaral Reeme HiGaamares: JEe ;-

spefesRea oo Rl 61 o s e & AP

Rewrite the time table using Sanskrit work in place of figures :- 1x2=2
i) <% 5:00 e |

i)  7:15 ot TTesTH |

e TSRATATRIY R TSl Ted: Shd: STeaus: quRi fomd -

Frafesfr) A i Rk el 61 o T Fo T Sl oo i 2 AR

Fill in the blanks in the following sentences with appropriate indeclinable words
given in the box :- 1x4=4
() @9 faeE fepT=afall

(i) @ AGSE TRSART?




(iii) & Jad|
(iv) TR AW 9 A

qq, 1, dafs:, &

10.

11.

SSRATY ATRIY TATT ATGH ITTEH 3T | T[E-T¢ HaireA fovad - 1x4=4
rdifesRad-arll § TEfyd Ue STl £ | TS 2 i 278 T H: o5 -

Correct the underlined incorrect words and rewrite the following sentences.

Q)  oTE e TESE: |

() | AT G AR

(i) & |: [Taed T8 |

(iv) o G QI TEE NS |

Que: ©: (Section D)
qi3a-Sraeae / Fidd-Sraatad (30 Stg:)
Reading Comprehension (30 Marks)

refosad i, 9, etz = Giéel Se-SeaTeH, ST Heha (o5 :-

ferlosRad T, 921 ST ATSIiaT il qash U I 94 & Io) G | fofa -

Read the following prose, poetry and drama passage and answer the given question
in Sanskrit :-

(@) T

S o

dY TS At T & HAE Hied: Hifd, TSH, Ted IFaedrm, - W Al qEH: | FAAA
e freH AR Fiew? Al Hg Td Udd afE @ Rweg! e R FE i) degan Y
FIA IgeUe: Tok: IA - "N Wil T dfe H W U TR ST FIAA T TIH?
MY IqH TSR ?
) THEA I - 1x2=2
TF 27, H IR T -
Answer in one word :-
(i) ST STEEA?
(i) SIS TR NI Hieled @2

)  UhdEed SN - 2x1=2
QUi B I ST -
Answer in complete sentence :-

(i)  IgqUe: AGH: [hH EEd?




(%)

1)

%)

@)

)

®)

Qi

FIS:? QISHEN:, I AER:? 3 REliel = SN B qoh:? 4

I)

M)

1)

%)

@)

i)

®)

Tedidhend: IFaay I’ T foad -
faQ 79 fohedl | | I ST TR f3Ra -

Yox4=2

Choose and write the correct answer from the given option :-

AT el FeRATIEEE Hque o6 -

G o (i)  wE=

PG - A F: (IS TR YR -
(i) oEERE (i) g
qY T T Tz T -

() e (i) e
IZIUE: A - 3T foh RO 1 -
(1) 3Iqavs: (i)  STh%h:

@1&? Id :-

U I7eg H TR T -

Answer in one word :-

(i) Tq: FHEEG: |: Fr?

(i)  3: fear« a st |: ®:2

TR ST :-
QU H I ST -

Answer in complete sentence :-

(iii)

(iii)

(iii)

(iii)

(i) I FIS PR I A A |: F: Jaia?

Seashed: e TR M foed -
fom T el | | SR ST T fRa -

dlcheh:

Tos T | a<h A ST |l
1x2=2

2x1=2

Toax4=2

Choose and write the correct answer from the given option :-

TS - I F: [TAH: ik TR -
(1) I (ii) H:

/WQ :I g‘l% m@' ra!l; I'_qq. r\lalaa :_

(iii)

() FEUWREE (i) FEUARAE (i)

/ST STRAA 9 T 91g;: -

®» 9= i) =
TR - I F: T -

i) A (i) e

(iii)

(iii)

e

4 FHEE:

ST

9



€] R

Jm: - O TR IR | T SITT: SR 9 HR |
SFo: - AR 9 SN a6 Aag) g SYeRE SRS §: Wl NI,
AR | SaTe Sl §: GERIahH STaod
g - (EreEw) Y T
SMFU: - ! A FRIGH| AR T TR 35S | g o FH TG, JRH, 9
< 91 T, gV eIt |
g - daeda: |
g - ¥ J =R U9 I | IETT T 3 Sh: |: GULE QT = IEiaaT,
o @: T ek TR SRS RIGH 3T @A 7 enfad |
I) TG IO - 1x2=2
T TTeg H IO GINTT, o
Answer in one word :-
() % SRIESENT 9 HRE?
(i) T, Ak O e FE TR [SEa?
[[)  UhaRA 3TN - 2x1=2
qy?armﬁw éﬁ%iq:-
Answer in complete sentence :-
(i) T e S = oTE=sd, aE e SEa?
M) YeaeEHeRd: Irdad ST Tl e - Vox4=2

foQ 7T foehedl ® § I ST TR fSRa -
Choose and write the correct answer from the given option :-
F) Ege O &: Go: TR ugwd -

Q) T () faE= (iil) — TEwgR:
@) U G - o o i ger etk -
(i) G (i)  GuIA (iii)  FUEA-GTUTET
W) EESAGH RA IS & T T -
H T (i) (i) =q
W) R 2 R T e
() g (i)  oTa: (i)  &rfoT:
12, CEgauare mged g2-femio 6d - 1x4=4
TEIEd 98i AT G 92-fer o7 i -

Frame the questions on the basis of underlined words :-



() o FEETH P A TR
()  ITARER R O Al
(ili) SRR TSIl SSFVRE TR |

(iv) HTRNHAT: ¥ TEaaEd FEd |

13.  WEUA: GYrEquel Ml STHifaRad Spgaed sTw=d Jad -
T § 8 T UE JAR PR Nad 2l S F e gl HIT -
Complete the prose order of the following two Shlokas by choosing the appropriate
words given in the box :-
(®)  Tqd: Fis RENSY fRd a9 R | Vox4=2
Il FrEHEI HEHEI T4 |l
g NId! @ (i) L (ii) feerd | (3/Em)
4d: (iii) A A (iv) el
@) A F=3id 3 Jied faaraH Had | Vox4=2
franse & JUey ggReahagdan il
T g (i) Hed (i) T=3id, 36 fUa
% (i) a4, Ig: (iv) |
Al
I, d9:, AYE:, [ATaed, dehdgidl, dicd, &FEH, Jhe
14.  STHSRATRIAT T Wd ke d: T [&Ed - 1x4=4

frrAfosRad Hel 1 Tad A fahedl § § AR [SRIT ;-

Choose and write the correct gist of the following sentences from the given

options:-
(F) =S & T FN THIY THAERH -

()  AgEE: (i) YHIRISH (i) FSUEdH,
(@)  Hadd Tehad IRETHH: -

() R () TR (iii) S-S
() T SR e < e -

(i) &I (i)  feEon (iii) ST
I T

(i) (i) = (iii)  Stferest

b I I S R R




